

Multiply by 10^{-1} (F)

Find each product.

$79 \times 10^{-1} =$

$29 \times 10^{-1} =$

$3 \times 10^{-1} =$

$57 \times 10^{-1} =$

$54 \times 10^{-1} =$

$3 \times 10^{-1} =$

$43 \times 10^{-1} =$

$92 \times 10^{-1} =$

$76 \times 10^{-1} =$

$99 \times 10^{-1} =$

$4 \times 10^{-1} =$

$14 \times 10^{-1} =$

$12 \times 10^{-1} =$

$65 \times 10^{-1} =$

$8 \times 10^{-1} =$

$56 \times 10^{-1} =$

$39 \times 10^{-1} =$

$96 \times 10^{-1} =$

$77 \times 10^{-1} =$

$59 \times 10^{-1} =$

Multiply by 10^{-1} (F) Answers

Find each product.

$$79 \times 10^{-1} = 7.9$$

$$29 \times 10^{-1} = 2.9$$

$$3 \times 10^{-1} = 0.3$$

$$57 \times 10^{-1} = 5.7$$

$$54 \times 10^{-1} = 5.4$$

$$3 \times 10^{-1} = 0.3$$

$$43 \times 10^{-1} = 4.3$$

$$92 \times 10^{-1} = 9.2$$

$$76 \times 10^{-1} = 7.6$$

$$99 \times 10^{-1} = 9.9$$

$$4 \times 10^{-1} = 0.4$$

$$14 \times 10^{-1} = 1.4$$

$$12 \times 10^{-1} = 1.2$$

$$65 \times 10^{-1} = 6.5$$

$$8 \times 10^{-1} = 0.8$$

$$56 \times 10^{-1} = 5.6$$

$$39 \times 10^{-1} = 3.9$$

$$96 \times 10^{-1} = 9.6$$

$$77 \times 10^{-1} = 7.7$$

$$59 \times 10^{-1} = 5.9$$